e M{ODEL SOLVED PAPER e

RBI OFFICER GRADE ‘B’ EXAM

H HELD ON : 06.02.2011 N Based on Memory

| GENERAL AWARENESS |

1. What role do Micro. Small and
Medium Enterprises (MSMEs)
play In a country’s economic
and industrial development 7
W They have the capacity to

absorb skilled and unskilled
Iabour avadable in the coun-
try.

[B) Such institutjons help in
distribution of income ina
wide spectrum and do not
allow it Lo get concentrated
In few hands or in few ar-
cas.

Q) They help in eradication of
paverty by providing sell-
employment opportunitics.

(1) Only (A) (2] Cnly (B)

[ Cnly [C)

[4) Only (Al and [C)

(50 AlLA), 1B) and [C]

2. Which of the following state-
menis about the Indian
Economy is correct 7
(1) Indian economy s as devel-

oped as that af China

2] Abowt 709 Indians are in-
valved in some type of self-
employment and are the
owners of some or the other
milcro or small enterprise

(3 In India single biggest em-
ployment is agriculiure and
allied activities

(4] Abput 458% Indian work-
force Is employed in foreign
countries of in organiza-
lions assisted by forelgn

IC) Frequent takeovers of fer-
tile land by private compa-
nies and multinationals to
launch bdg business com-

b=

(1) Omby (A}

(2) Omly (A) & (B)

13) Omly (A) & (C)

4] All (AL [B) & [C]

{51 Hone of these

4. As per news In various jour-
nals, many banks have fafled
to achieve agri-loan target
lxed by the RBI for the year

2010-11. Whal was the targel

fixed for the year 7

1) 10% 12) 15%

13 15% 4) 24%

15} 30%

B81. Which of the following state-
© ments aboul Agro and Allied ac-

tivities is NOT correct 7

(1) Farmers do not get ad-
equate credit for purchase
of cattle

12) There is a need to Improve
breed and genetic charac-
teristics af the cattle folk

13) India has huge forest cover
and also degraded and
marshy land which can be
used for productive pur-

POSES

[4) Incia s the 10ih largest
procucer of medicinal and
aromatic plants. But the
products are nol of com-
merclal -value

15} Animal hushandry plays an
important role in providing

[1) TRYSEM
[@) Pradhan Maniri Gram
Sadak Yojana

(3 KutlrJyoti Scheme
[4) ASHA [3] MGNREGA

7. In some paris of India. farm-
cra face acute distress because
of heavy burden of debt (rom
non-institutional lenders, Who
can be ealled a non-nstitutional
lender
(1) Small Banks
[2) Grameen Banks
(3 Credit Cooperathve Socicties
[4) Micro Finance Instiiutions
(3 Money Lenders

8. The South Asian Free Trade
Agreement [SAFTA) was Intro-
duced with a view of levying
how much custom duly for
trading any product within the
SAARC zone 7
[1) 5% (2) 4%
(3 2% (&) 1%
[5) Mo custom duty

2. Which eof the following
organisatlon preparcs rural
eredil plans on annual basts for
all districts in India, which in
turn form the base for annual
credil plans of all rural finan-
clal lnstitutions 7
(1) SIDEI 12) NABARD
1% REY
[4) Indian Bank's .ﬁn:mchl.l.@n
15 €I

10, Which of the following is TRUE
about the currenl population
tremdis) in India 7 !
(A Every year India adds more

capital susiainability under Rain people Lo the world's
{5 Nane of tl fied conditions pnpul:lyunn than any other
3. Which of the following is/are 8. Which of the schemes e
correct about the pm&,m of launched by the Govt. of India (8 Currently India has a young
tndian Agricubure 7 alms at enhancing the lveli- mﬁ:&’ﬂ;ﬂ E“;:
hood security of th in
L Wﬁmwtmﬂmm e ﬂlﬂﬂﬁ)" gu;rzotgrmg a result of decline in
:hamlngime-atmenm. 4 lu“dim:;:? nl!'n'rlphgrnmn: il “]'e::mrr;.l atlonal Famlily
a fina year to a rural 5 r
1R Ao Enfaebructine e household whose adult mem- Flasning Programme did not
im shape and needs lm- bers volunteer (o do unskilled contribute much in
mechate improvement. manusl wark 7 controliing fertility rate
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(1] Only (A} [2) Only (B)
131 Ondy (C)

(4] Omly (A) and (B

(5 Al(A)IB) and (C)

+ In economic terms, which of
the follewing [Actors determine
the Individual's demand of a
product /commodity 7
1A} Price of a commodity.

(B Income of the individual.
€] Utility and quality of a com-
madity

111 Cnly (A} (2] Omly (B)
(3 Oy (C) g
14} Omly [Ab & ()

(5 AdliA). (B & (C)

12. Which of the following terms
15 used in the Aeld of econom-
Ies 7
(1) Adiabatid (2) Bohr Theory
(3 Plasma
[4) Barter System
(50 Viscosity

13. “Pascal Lamy calls on trade ne-
Eotiators to move out of thelr
comior zones towards agree-

ments”, was the headling fn’

some major newspapers. This

Ews I8 associated with which

af the following arganbations

agencies ?

(1) World Trade Organization

[@) Internaticnal Monetary
Furnd

[# World Bank

(4] United Natlons Organisa-
thors

% North Atlantic Treaty Or-

ganksation
14. Which of the following Is NOT
a function of the Planning Com-
mission of India 7
(1] Assesarment of the material,
capital and human re-
sources of the country

utilization of country’s re-
BOUFCES

13 Public eo-operation In na-
tional development

4] Preparation of annual bud-
get ol the eounlry and eal-
lection of taxes Lo ralse
caplital for the implementa-
tion of the plans

15} Determination of stages in
which the plan should be
carried out

+ 18. Which of the following periods
represents Lhe perod of the
first Five Year Flan in India ?
1) 1948-53 [ 1947-52
[3 1952-57 (4) 1950-55
3 1951-56

18. Which al the following is the
name of the process available
o common people Lo seck
court’s intervention In matiers
af public interest 7
(1) Public Interest Litigation

[PIL)
[2) Habeas Corpus
(3] Ordinance
4] Reslduary power
(% None of these

17. Indla’s forelgn policy 45 based
on several principles, one of
which' i%

1] Panchsheel
(2] SatyamevJayale

{3 Live and Let Live

(4] Vasudhahvy Kutumblkam

5] None of these

1B. As we know thousands of
tonnes of foodgrain whs
washed away In the foods in
Haryana and Punjab a few
months back. This incident is
an example which indicates
that there is a seope for im-
provement in our machinery
controlling our =
1] Mid Day Meal Scheme
12} Public Distribution System
(3] Food for Work Programime
(4] Vilkage Gradn Bank Scheme
15) Operation Flood Scheme

18, President Barack Obama was
on a visil to India a few months
Back. His visil is said 1o bave
forged both the nations into a
new era of relations. India man-
aged o sign a special agree-
ment with US in which of the
following fields/areas as &
byproduct of the visit of
Obama 7
|4 Energy sector & Nuclear

cnergy as US has lifted
sanctions an supply of high
tech machines.
(B} Skill Development Pro-
grammes in IT sector in
. which US has super-
specialisation.

[C) Training in management of
Micra linance Instilutions

(1] Only(A) (2] Cnly (B)

(3 Omby (A} and [C]

(4] Omily (B] and (C)

(5] Only(A) and (B

20. Many times we read a term Tax
Haven' In various newspapers.
What does it mean #

I ks a cowntry where cer-
laln taxes are levied al a
very low rate.

[BY It isa country where people
can dump their illegal
maoney without any prob-
lem.

[Ch It is o place where foredgn-
ers can work without pay-
Ing any tax on their income

(1) Omly (A) & (B]

(2) Omiy (B)

3 Omby (B) & ()

[4] Only A

3 AdLIAL (B & 1C)

21. As per existing law, whal i the
mdnimmuen per day wiges paid
o a worker from unorgansied
secior In India 7
My s 2y 7s
@y 1o iy 125
(5) No such law is there

22, Who amangst Lhe following was
awarded the “Indira Gandhi
Peace Prize™ lor 2010 7
{11 Ronald Noble
(2] Ludz Inacio Lula I¥ Siva
X Mohammed Elbaradei
(4] Aung San Sau Byl
5] Mone of these

23, Which af the following is NOT
a Poverty Eradication Pro-
gramme launched by the Govi.
of India ?

1) Swarnjayanti Giram

. Swaroezgar

12) Jawahar Gram Samridhi

Yojana

(3 National Soclal Assistance

Programme

[4) ADHAR
[5) National Family Benefit
Scheme
. According to the World Bank
eatinmate aboul $0% Indians are
living below International Pov-
erty Hne ol US §
(1) 1 per day (2)1.2% per day
[H 2 per day
[4) 2.5 per day
(%) 3 per day
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25. The 10th Trilateral Ministerial 31 Which of the fallowing is NOT

[1) Garreents [2) Leather

Meeling of RIC group was or- a major function af the RBI in o m
ganized in November 2010, India ? (4] Ol and Petrobewm
Who are the members of the [1) Issuamnce of currency notes (%) Handicrafls

RIC T
(1) Russia - Iran - China

(2] To facilitate external trade
and payment and develop-

A7. Who amongst the following is

NOT a reciplent of Nobel Prize

[2) Russia - India - China Ing & forelgn exchange mar- in econamics 7

[¥ Romania - lIran - Canada ket in Indin (1] Peter A, Diamond
[#) Romania - Isracl- Chile (3 Maintalning price stability (%) Dale T. Mortensen
[5) Russia - India - Croatia and ensuring adequate fow 13) Amariya Sen

26, India and Syria recently de-

clded to doubje their trade in
nexd 2 years. Indian Govl. has
decided to export which ol the
Tollewing commodities to Syria ?

of eredit to productive
seclors

(4] Taking loans/credit from
World Bank /IMF and ADB
ete. and reallocating it for

(4] Paul Krugman
(5] Roberi G. Edwards

348, Base] Committee has glven its

recommendations on which of

the following aspects of bank-
(1) Matural gas various activities decided by 1..ﬁnp¢r.-.unﬁu '?m
@ Mk (3 ol the Govi. of India {1) Marketing of ank products
(4] Wheat (5] All of these 15} Formulation and monitoring {Z) Priority sector lending

27. Inclia has sanctioned a ¥ 26 mil-

lbom grant to which of the fol-
lowing countries lor develop-
ment of lube wells 7

(1) Myanmar (2] Banglacdesh
13} Nepal [4) Pakistan

15} Sri Lanka

Z8. Which of the lollowing-is the

the monetary and credit

32. The RBI has reglonal offices at

various places. Al which of the
[allowing places it does mot
have an alfice #

(1) Kota (2] Shimia

[H Lucknow (4] Panajl

13} Risk Management
[4) Micro Anamncing
15 All of these

30, Which of the following is the

rank of India in Human Devel:
opment Report 2010 prepared
by the UND #

Gunwahati (1) &8 12 100
name of the scheme launched n\[?n e e Ml 115 (4119
Iy the Gevernment of India for iy the: Towing (54 Wone of these

adplescent girls 7 (Launched in

arganizations/agencies has
given a US § 407 billlon loan

40. Which of the following was/

Newvemnber 20100 thi Lives of the

(1) Swawlamban Dottt honet p dta xolera RBUs seview w:ﬁ'ﬁu:@r and

[2) SABALA ' e i Credit Policy 2010-11 which

arcas 7

: M

Aad.ha;r 4] ASHA (1] IMF [2) Workd Bank mmwnmznd o

5 None of these 3] Bank of Japan )
20, Many Limes we see In financial 4] ADS W :Em?htaﬂu inflation

Joumals/hulletins a term M3,
What is M3 7

(1) Currency in circulation on

5] Jointly by IMF and ADB

34. The Prime Minister's Economibc

Advisory Councll [FMEAC) has

(B) To malntain an interest rate
regime consistent with
price.

a particular day rojected that the Indian provid .
(2] Total value of the lorelgn ];:p;':qm will grow by what & Eﬂmm;mmm

exchimnge on a panticukar day percentage during 2010-11 7 I siress due tomarket fuc-
13) Total valwe of export credit 1) 15% (2] 18% Lusitions.

on a given date (3 2% 4] 24% (1) Only (A} (2) Only (B}
{4) Total value of the tax col- (50 26% 13 Only (A) & (B)

Iected in a year 938, Which of the [ollowing 4] Al [A), B & [C)

(5 Mone of theas

:IJ.M per news In various news-

papers, Govt. has allocated a
huge sum of  31.000 crore

organizations / agencics has
gven the estimate thai the India
will be third largest FDI
recipient in 2010-12 7

41.

(5 Mone of these

PIIGS Is the group of nations
falling under .
(1) Eure zone (2] Mla Pacific

i . 1
FI;;‘ERF ‘What ks [ull form of Ez: UNCTAD A i
[5) Commonwealih L
[1) Right to Education [ Warld Bank
[2) Reforms in Technieal Edu- 4] IMF 42. Which of the following Is / are

catlion
[# Return o Empowerment

(5] MNone of these

38, The performance of which af

the preconditions. the IMF has
put 1o provide bail outl pack-
age lo Ireland ?

[4) Right to Empowerment the following industries is con- {Al It should gradually lower
(5] Fenewable Technology for sldered performance of a core down u.nerrmluymm ben-
Energy Industry ? efits.
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(B It should bring down the
minimum wages in onder to
hacsl employnent.

[C) [ should import some of the
crucial commaochitics from
P L oo nes s ime-
medinte measure 1o im-
prove shortage of Uhe same.

(1] Only 1A) & (B]

[ Only (B & (C)

(5 Only [A) &1C)

{1 Cinky (A4

51 AL LA (B & C)

43 Il is sell salliclent In are-
ductin al which of the follow-
ing conumsddities ?

(1] Eclibbe oil (2] Milk

[3) Pulses (4] Natuml gas

(3] Al of these

4. Which of the Tollowing is used
am an el in Nuclear power sia-
tions in Incia ?
i1 Thewivm  [2] Copper
5 Tim [] Cronmdum
i3 Al of these

45, Whieh of (ke following Siates
has taken up the joh af
improving Dums with the help
ol the World Bank's Dam
Relusbvilitation and Irprose-
men project 7
11 Kok
FE) Guijara
(R TR HE T
] Vetar Prascleshy
13 Grervnludi

46, Nitish Kumar led National
Dremeeeraniie Allsaice wan how
ey sesis i vecently held as-
seinidly eleciions in Bibur
i 150 12 243
03] 200 i 204G

15 Mone of these

tomigisl Lhe following is
vt il Lhe ek “Dewvel
aspumeail s Frocidom”™ 7

11} M. 5 Swamingthan

12) €. Rangarajin

{3 Marunohan Singh
%) Y. V. Reehily

15 Amaiiyi Sen
Which of the followin
= vscd in Firernee and Bank-
g

I1F Ligwe ol Sighul

14 Senttering loss

W Revenue  [4) Osciilition
159 Shickbing

48. Who amongsl the following is
a famouws economist 7
11} Richard Dawkins
(2] Alan Greenspan

13 Vernon Heywood
{4} Olivar Sachs
B} Stephan Howking

50. Wha amangst the following has
never held pest of the Gover-
nor of the RBI 7
i1 C. R."lng,:lrahn
{2 L. K. Jha
) Manmohan Singh
4] BimalJalan
1) Usha Thorat

r ENGLISH LANGUAGE

Directions [51-80) : In the fol-
lowing passage Llere ane blanks, each
al which has been numbered. Thess
numbiers are printed below the pos-
sage and against each, five words are
suggesied, one of which fits the ank
appropriately. Find out the apprapri-
ate word in each cane,

The continuing economic crisis
has pul central banks and govern-
menits e world over into (1] waiers.
For the Industrialized Wesd, Uhe ques-
Liom seems Lo be a choioe belween eco
nomic stimulus and jobs, in the hope
al crealing a sofler landing. or a swill
shock at the hands of the lree moe-
kets, in the hope of getting through
the [B2) more quickly. In emerging
markets, the question is how o deal
with being the faeal point for imves-
Lors looking to maximise relums.

Specilically, for the Feceral Re
serve in the United Siates, thatl means
{53 hundreds of Billons of dellas inlo
the markets - buying Treasury bills Lo
inerease liguidity. In Europe the con-
cern is thal monetary union may be ol
risik due 1o Lhe sirnins posed by eurn-
eonar counlries that arc [54) in ($5). In
Askn. on the oLher hiud, coonomibes are
surging, bt the prospect of hol moncy
Memscdngg inte the region couled potendially
spell [58] due 1o overhoaling.

Fears that the Fed's second
round of quantiialive easing may lead
1o o faster pace of [B7) may be [58].
US uncmployment remaing persis-
tenthy high m aroundd 10 per cent, while
indlation remains astoundingly low ay
I por cent o leas. the slowesi on
revorcl, That's despite the Fed's ear-
lier infection :»@ T wrillion into Lhe
Tinancial sysicy averl an ceonamic
l:lrpl"r}-z-t:hll in ihe wake of the glolial
tinancial ¢risis.

In comntrast o the Fed's quanti-
tative easing. the European Central
Bank has reduced ligquidity in the Eu-
ropean banking sysiem by some 350
hillion curos during the past live
months. This reflects the central
bank's (H8) in the improved stabilive
of the banking system and easicr (G0)
Lo capilal.

8L (1) tested

12} unpredictabbe

13 under

14l undpaestionalsle

154 uercharted

B2, (1) downium

W apions

5% ciruma

53, (1) sucking
I3 forming

{2) spectinam
) hope

12) pumping
) bcking

54 paromoting

B4. (1) mired {2} sale
13 abewoe 1) unlsappy
15 ot

55. (1) market 12) troulsle
1) cbekd 14} surplus
5 manner

B8, (1) posilive (2] negolive
3 troulide 14 growth
5 process

57. [1) cosL 2] depreciation
I3 congeralion
l4) inflation {5 e

B8. (1) challenged §2] overstated
I3 ]n‘rful.'l 1) prredicted
15 simple

Ba. [1) wenkmness (2] strenglh
[ correction {40 contract
15 confidence

B0. (1) denial ) apgaronal

|} appreciaten

[} aocess 15) clisgesal

Directions (B1-78) : Read the
following passage based on an Inter
view Lo answer Lhe given Auieslis
Lrased om il Cortain wonds are printed
in bald 1o help you locate them while
nnswering some of the gquestions.

A spate of fermer subeides lked
1 FERres S nerid D) reroiej el s o
ployed by nvicro firgnee instdations
{MEL=) irv Areclleree Progtesh spurred ifue
SECHer G RT I lU‘jJHH:I'J ir f{'_ﬂl:l\'.ﬂ“(.“l
toprodect consumer intevests, Bu while
e BED hos voughi indo shieepe foces
the need for cwesanes proleclion, i@
Ures Lo ricrao-rannage M) opeeralions
qurml fon dhe prroness 6 crdale] SCebtbe s
af the ervicied baesvefies thied AIFTS Diring
{o foarmers. fapgs (e author of
Microftieanee ncice. Stane O Thas Soc-
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tor Report 2000, Inoan interdew he
painds out that prudend regulation can
ensure the aripinal goal of the MFIs -
social uplift of the poor

Do you feel the AP Bill to regu-
late MFis is well thought out? Does
it ensure falrness to the borrowprs
and the long-term health of th -
tar?

The AP Bill has brought Inile
sharp locus the need far customer pro-
tectbon in four critical arcas. First is
pricing. Second is lender’s lability -
whether the lender can give too much
lean wilhout asscsaing the custiomer's
ability to pay. Third 15 the structure
ol loan repayment - whether you can
ask money on a weekly basis from
people who don’t produce weekly In-
comes. Fourth is the pracilees that
attend to how you deal with defaults.

Bult the Act should have looked
at the positive beneflts thal instilutions
could bring in, and where they need
1o be regulated in the interests of the
customers. It should have brought only
thase leatures in.

Say, you wani the recovery prac-
tices Lo be conskstent with what the
cuslomers can really manage. If the
customer is agg@rieved and complains
that somchody ks harassing him, then
those complaints should be investi-
gated by the District Rural Develop-
ment Awthority.

Instead what Uhe Bl says is that
MFls cannod go o the customer’s pre-
mises o ask for recovery and that all
transactions will be done in the
Panchayat alflee. With great diMeulty.
MFis brought services to the door of
people. It is such a relief for the cus-
Lomers nod Lo be spending time aut
godngd to banks or Panchayat offices.
which could be 10 km away in some
cases, A lacility which has brought
some reliel to people is belng shul.
Moreover, you are practically telling
the MFI where it should de business
and how it shoubd do it.

Social responsibilities were In-
bullt when the MFls were flrst con-
celved. If MFls go for profit with
loose regulations, how are they dif-
ferent from moneylenders?

Even among moneylenders there
are very good people who take care of
the custemer’s circumstance, and
there are really bad ones. A large num-
ber af the MFls are good and there
are some who are coerclve because
of the kind of prices and processes

they have adopted. Bul Moneylenders
never got this organised. They did not
have such a large foolprint. An MF1
brought in organdsation, [ mobilized
the equity, it brought in commercial
funding. It invested in systems, It
appointed a large number of people.
But some of them exacted a much
higher price than they should have,
They wanted Lo break even very [ast
and greed did take over in some cases.,

Are the for-profit MFls the only
ones harassing people for recoveries?

Some nod-for - proflt cutlits have
also adopled the same kind of recow-
cry methods, Thal may be because
you have Lo.show that you are very
eiflicient in your recovery methods and
that your porifolio s of a very high
quality if you want Lo gel commercial
funding from a banlk.

In fact, among for-profits there
iwre many who have sensible recovery
practices. Some have farinightly recov-
ery, same have monthly recovery. So
we have differing praciices. We just
describe a few dominant ones and as-
sume every for-profil MFI aperates like
that.

How can you lntroduce regu-
latlons to ensure social upliftment

in a sector that is moving towards |

for-proflt models?

I am not really concerned
whether someone wants to make a
profit or not The bottom-line for me is
cusiomer protection. The first area is
[nir practices. Arc you telling your cus-
tomers how the loan |8 structured 7
Are you being transparent about your
performance? There should also be a
lender’s Hability attached to what you
do. Suppose you lend excessively o a
customer withoul assesaing their abil-
iy Lo service the loan, you have to take
the hit.

Then there's Lhe question of Hm-
iting returns. You can say that an MF1
cannod have a relurn on assels more
than X. & returm on equity of mare than
Y. Then suppose there Is a privately
promoted MFL, there should be a regu-
lation o ensure the MF1 cannot ac-
cess equily markels Ll a certain
amount of time. MFls went to markets
perhaps because of the need Lo grow
oo big too fasl. The gevernment
thought they were making profit ofl
the poor, and that's an indirect rea-
son why they decided to clamp down
an MFls. If yous say an MFI won'l go lo
capital market., then it will keep politi-
cal compulsions under rela.

81, Which of the [ollowing besl
explains “structure of loan
repayment” in this context of Lhe
first gquestion asked to the
autheor ?

(1) Higher interesl rate

[2) Paymenl on weekly hasis

(3 Giving loan withoual assess-
Ing ability Lo pay

[4) Method of dealing with de-
faulis

[5) Tolal armount of koan

82. The author is of Lthe view
that .

[1) the bill to regulate MFls is
nol needed

[2) the bill neglects the interests -
af the customers

[3 the positive aspects of MFls
should also be considercd

[4) most of the MFls are nol

(3 MFls must be told what and
where they should do busi-
eSS

83. One of the distinct positive

feature of MFLs is that ____.

(1) they brought services to the
door of peophe .

[ they deall vith default very
frmly

(3 they provided adequate cus-
tomer protection

[4] they are governed by the lo-
cal people

(5 they have highly flexible re-
payment plan

B4 What is the difference belween

MFls and \naneylenders?

(1) There is no dilference

(21 A larnge number of momey-
lenders are good whereas
only & few MFls are good

(3 Moneylenders gave credil at
lower rate of interest than
that ol MFis

(4] MFls adopled a siruciure
and put a process In place,
which was nod the case with
moncylenders

15 Moneybender appointed buge
number of local people as
agninst more oulside people
in MFls

88, Which of the lollowing is positive

outcome of the AP Bill 1o

regulate MFls 7

11} The banks have stared this
service in remote arcas
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2] It highlighted some areas of
customer protectlon

13] It highlighted the bad prac-
tices being followed by mon-
eylenders

{4} MFls invested in systems and
brought in commercial fund-

g

15) It will help canvert MFls into
small banks

B8. The author is recommending __.

(1} Mod-for profit MFis

(2} For-prafit MFls

13 Stoppage of commerclal
funding to MFls

4 Customer salisfaction irme-
spective of ‘Nol-lor profit or
‘for-profit’ MFls

[5) Public sector promoted MFis

Why did MFis go to the equity

markers?

[1) To repay the loan

[2) To lower inlerest rate

[3 There were political compil-
slons

[4) T became a public sector in-
stilution

[5) To grow very fast

Which of the following has not

been Indicaied as one of the

features of falr practices for

customer protection?

1] Providing information about
loan structuring

(2] MFls should also be held 1i-
able for some of their actions

{3} Mot to ralse money From capl-
tal market

4] MFls should also inform pub-
lie about their own perfor-
mance also

15 To provide credit as per the
rational assessment of thelr
ability tp service the loan

Which af the following could

possibly be most plausible

reason lor banning recovery by

golng 1o customer’'s premises?

[1} To protect the family mem-
bers i

[2) To protect the custamer rom
harassment and coerclon

[3 To reduce the undue ex-
penses of MFis resulting in
lower interest rales

{4] To account systematically
the money recovered in the
beoks ol accounts

5] To keep Panchayat offloe out
of thess transactions

Directions (70-73] : Choose the
wordwhich Is most nearly the same
in meaning as the word/group of

words printed in bold.
70. Manage
(1) afford [2) assess
[3) thruast [4) admindster
(5 use
‘T1. Exacted
[1) perfected (2] demanded
(3 estirmated [4) corrected
(5 accurate
T2 Scuttle
(1) dhelay (2] mix
(3 shuilie 4] destray
(5 smoothen
73, Spurred
(1) agiated (2] instigated
(¥ reflected (4] disapproved
. [5) prompted

Drections (74-75) : Choose the
woard or group of words which is most
oppesite in meaning of the word
printed in bald.

74. Underreln

(1) under wrap

2] without tasget

13 let looss

4] noclout

15) under cloud

78. Coercive

1) gentle

(2] promoting

[3) progressive

(4) matural

15) eplndonated

DHrections [76-81) : Rearrange
the following six sentences [A), (B), [C).
[, (E) and [F] In the proper sequence
to form a meaningful paragraph: then
answer the questions given below
them

A Twao of the best-performing
major economies in 2010
were China and Brazll, with
growth estimated at 7.5%
and 10.5% respectively.

(B) Despite thal limp growth,
mijor US stock market in-
dexes are up between 11 %
and 20% for the year.

IC] Even knowing where econo-
mica are headed somelimes
Is of no help to an investor.

(D) It ks hard to antcipate the
direction of Anancial mar-
kels, :

(€} But as of December, stock
markets of both nations were
in the red for the year.

[ By contrast. the IS
cconomy Is likely to have ex-
panded at only about 2.6%

s for the year.

T8, Which of the following would be
the SECOND sentence™
[y A @c
o [ E
5 F

77. Which of the following would be
the FOURTH sentence?™
[y A B
c [4)E
mF

T8. Which of the following would be
the FIFTH sentence ?
A 2B
(3c [CRN ]
o F

T8. Which of the lollowing would be
the FIRET senlence?
B [P L
3o ) E
i E

B80. Which of Lthe following would b
the SIXTH (LAST) sentence?
i A [ ]
3 C ) D
5 E

81. Which ol the folboaing would be
the THIRD sentence?
{11 A 21e
3D 4 E
51 F

Directions (82-88) : Rearrange
the following five sentences (Al (B)
(). (D) and [E) in the proper sequenae
Lo form o meaningful paragraph: then
answer the questions given below
them.

[ Add the incremental loans o
the basic metals and metal
product industry, which -
count for another 14.5% of
loans to industey and over
B0% of the increase in loans
to industry this fiscal is ac.
counted for.

[B) RBI deckslon to publish dista
on sectoral deployment of
bank credit every month will

- prwlrl-c mmesch neeced detall.

(C) Of the total increase innon
food credit. infrastructure
loans accounted for 37%.
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[ For instance. the data show
that while bank eredit o in-
dusiry Increased by 11.7%
this year, as much as two-
thirds of that increase is on
account of lending to infra-
structure.

[E] This will help us o gauge
which sector of the econormy
are doing well.

Which of the following would be

the THIRD sentence?

[1h A 2B

< [4) v

5 E

. Which of the following would be
ihe FOURTH sentlence?

1) A 2 B

(3} Either Aor E

4o W E

Which al the following would be

the FIRST sentonce?

(1 a [2) B

o (4 o

5 E

Which af the following wolild be

the SECOND sentence?

1) A 2 B

(KN [4) D

15 E

Directions (86-90) : Read each

sentence Lo find out whether there s
any grammatical error In it or a wrong
word has been used. The ervor, If any,
will be in one part of the sentence
which has been printed in bold and
has been numbered (1), (2], (3] or (4).
The number ol that part is the answer.
If there I8 no error, the answer is |5]
le. "No error’, (lgnore the errors of
punctuation, il any.)

B8. The convergence of (1], Indian
accounting standards with
International Financial Reporting
Standords ([FRS) beglaning (2]
in April is expecting to (3)/ see
power companies struggling
with [4)/ significant frst-time
adoption impact. No error [5)

. Researchers at (1) the Indian
Institute of Science [11S5c),
Bangalore. are mapplag [2)/
India’s solar hol spols-where
round-the-year (3)/ sunlight
makes it viable of [4) /fcompanies
to sel up solar power planis. No
error [3)

B8, Though their qualifications span
a diverse 1)/ range. there s an.
equal [2)/ number of graduates

and Lthese who have just com-
pleted School, each set |3)/ mak-
Ing up [(4)/ close vo 30% of these
households, No error (5)

B0 As If (11/ the most dangerous
mament for any dictatership
is when (2} it starts to [3]/
reforrm, North Korea loalks ready
o turn that trulsm on its head.
(4} No error [5) .
It so happens (1]/ that this
happy campy ritual is Lhelr way
of e (2]/ and one lote which
[/ they don't particularly wel-
come (4)/ voyeuristic Intru-
sions. No error (5]

LQUANTITATWE APTITUDE

Directions [B1-85) : What
should come in place ol the question
mark (¥ in the following questions?

81 |7 - 45| = 40
(1) 85 or - 85
{2 85 or 5
4] 40 or &

15 Mone of these
oa. ("] =&
J

(1] 28 (] 16
12 4] 24
5] None of these

83 [zt =7
m W) @es-

@7 @)

(5 None of these
4. Mo of (47 = 51.2
15 218
5 4 10
15) None of these
85 41296 = 7
na (2 36
(LI ] (LR
5] Mone of these
Directions (B8-100) : In the fal-

(HGor=-5

lowing number series only one num-

MHW.MWLm:mmm1
ber.
B84 3 45 85 20 531625
mna (2] 4.5
@ 8.5 (4] 20
5 53

B7. 12000 23495

472 568
12.98 -2.408 -5.4816

(1) -5.4816 [2) 472

13 12.06 [4) = 2408

13 2385

B88.1 8 28 99 412 2075 12480

128 ) @8
() 412 [4) 2075
(5} 12480

99, 144 215 540 1890 8505

304053.75
[2) 540
[4) 8505

ABTTT.5
) 215
13 1850
15 467775

100, 2222 1879 1863 1538

1474 1447 1440
1) 1879 [2) 1538
(3 1474 4] 1447
[G) 150
« In a college. the ratio of boys
to girls Is 31 : 23 respectively.
When 75 more girls join the
college. this ratio becomes
124 : 107. How many more
girls should join the college 1o
make the number of boys and
girls equal?
(1) 75 12) 90
[3 &0 4) B5
[3) None of these

. The compound interest ac-
crued on an amount at the end
al two years at the rate of 12
pocpals 2,862 What is the
amount 7

(1) p11.2%0 {2) 12,200
[3 13,500 (4) +10,000 .
[3) Rone of these
A 280 metres long train,
travelling at a uniform speed,
croases A platform In 60
seconds and a man standing
on the platform in 20 seconds.
What Is the length of the
platiorm ¥
[1) G40 metres
[2) 420 metres
[3 280 metres
[4] Cannol be determined
[5) Bone of these
- A triangle has two of its angles.
in the ratio of 1 : 2. Il the
measure of one of its angles is
30 degrees, what is the
measure of the largest angle of
the Lrla.rlgll.- in rj-cg_me;‘?
(1ywo - 280
[3) 135
[4) Canmot be determined
[5) Mone of these
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108. In how many dilferent ways
can the numbers “256874° be
arranged. using each digit enly
ance in each arrangement,
such that the dights & and &
are at the extreme ends in each

[3) 38 4] 380
[ Mone of these
Directions (1068-110) : Study
the given information earefully and an-
swer the questions that follow:
An umm contains 3 red. 6 blue,
2 green and 4 yellow marbles. .
108. If two marbles are picked at
. random, what is the probabil-

ity that both are green 7
2 1

11} 1B 12) 1=
2

2 (41

(5] MNome of these
107. If three marbles are picked at

randorm, what is the probability
d that two are blue and one |5
yelbow 7
2 L]
(1 1= [2] o
12 3
3] Bl (4 I
(5] None of these

108. If four marbles are picked at
random, what is the probabil-

ity that at least one Is yellow 7
ol &9

[ 123 121 T
125 1

s 3

(5) None of these

104, If two marbles are picked at
random, what is the probabil-
ity that either both are red or
both are green 7

4

i 105

2

w2 ]ia

i)
] (] Bl
[5 Mone of these .
110. IT four marbles are picked at
random. what is the probabil-

ity that one s green. two ane
blue and one is red 7

4 17
LT 2 280

B 11
3 oay [&1] 15
(5] Mone of thess

Directions [111-118) : Each
of the questions ghven below consists
of a queestion and two slatements num-
‘bered | and [ glven below it. You have
Lo decide whether the data provided In
the statemnents is sullicient Lo answer
the question. Read both the statements.

Glve answer (1] If the data In
statement | alone is sufflclent to an-
swer the question, whils the data in
statement 11 alone Is not sulficlent o
answer the question.

Give answer (2] If the data in
statement. Il alone s al.dl'gcﬁcm 1o an-
swer the question. while'the data in
statement | alome 15 not suflicient to
angwer the question.

Give answer (3] U the data in
statement | alone or in statement 11
alone Is sufficlent 1o answer the gues-
thom.

Gdve answer (4] il the data in
both Lhe statements | and 11 is not sul-
ficient to answer the question.

Give answer (5) il the data in
bath the statements | and I together
Is necessary to answer the question.

111. What is the two digit posltive
number?

1. Sum of the two digls of the
number is 8.

11. Sum of the too digits is 3
more than the higher digit.

112: The symbal = represents one
of the following operationas:
addition, subtraction. mubtipli-
catbon or division. What is the

value of Ge 47

I. D=5=b

I 5=0=5

113. Atwhat trne did Poonam finish
the job #

l. Poonam started working
without a bresk on the job
at exactly @ a.m. and by
noon she had utilised ex-
actly hall the Ume that it
ook her to finish the job.

Il. Poonam took exactly 6
hours to finish the job,

114. Last year an employes recebved

an annual salary of 6, 15,000,

which was pald in equal pay-

cheques throughout the year.

What was the salary recebved

In each af the paycheques 7

I. The employvee recelved a
total of 24 paycheques dur-
Ing the year.

Il. The employee recelved a
paycheque twice a month
each month during the

. year.
115. Is the sum of Integers xand y
greater than 85 7
I. ‘The product of x and y is
greater than B5.
il. One of the variables is
greater than 83,
Directions [116-120) : Study
the fallowing pée charts carefully Lo an-
swer the questions -
Degree-wise breakup of employees
warking in wvarious of
an organization and the ratlo of
Men to Women
Total Number of Employess = 3250

\

Respective Ratio of Men to
Women in Each Department
Department | Men ‘Women
*  Production L) 1
HR 12 13
T 7 a
Marketing 3 2,
AreaLinis [ 7

118. What is the number of men
working in the Marketing
department 7

1] 462 (2 454

i3 418 4] 424

15) None of these

What Is the respective ratlo of
the number of wdmen working
in the HR depariment and the
number of men working In the
IT department ?

117.

Mir:12 @ 17: 246
(3 13: 28 [4) 12: 35
(8] Mone of these ¢
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118. The numbser of men working in
the Procduction depariment af
the organization forms what
percent ol the total numbser of

employees working in that de-
pariment 7

(s (@90

(51 ] [4) 65

5] MNone of these

118, The numbser of women working
in the IT depariment of the
grganization forms what
percent of the total number of
emplayees in the organization

[rom all departments together 7
(1) 3.2 2] 4.8
3 8.3 4) 5.6

Ddrections (121-125) : In the
Tollowing questions pvo equations nume
bered | and 1l are given. You have Lo
solve both the equations and
Give Answer I

m x=y
i} xz Y
5] xay
i} x5y
(5 x = i or the relation-
ship can not be estab-
lished
12L] P +5x+6G=0
N F+3y+2=0
1221 2 =10x+24=0

Il -9y +20=0

15} Nene of these 133. 1 |o* = 961
120, What s the total number of =
men working in Lhe organkza- I = 91
thon 7 124.1 F-72=x
(1} 2198 2] 2147 il =64
[3 2073 4) 2236 126.1  »F - 463 = 321
[5) None of these I - 421 = 308
Directions [126-130) : Study the following tables carefully and answer
the questions given below:

Number of people taking fresh loans from different Banks over the years
and the percentage of defaulters amongst them each year

:

REASONING

131. The positions of the frst and
the fourth letters af the word
PLANET are interchanged,
similarly, the positions al the
second and Mk letlers and
third and sixth letters are in-
terchanged. In the new ar-
rangement thus lformed, how
many letters are there between
the letter which Is seoond from
the right and the letter which
Ia fourth from the left accord-

ing to the English alphabetical
order 7
[1) Rone [2) Ome
[3) Two [4) Thres
[ Four

132. The positions of how many
alphabets will remain
unchanged if each of the
alphabels in the word

WORTHY iz arranged in
alphabetical order from |t o

rlght 7
[1) Nome (2] Ome
[3# Two [4) Three

[5)_More than three

Number of people taking fresh Approximate Percentage of default-
loans from different banks overthe | .  ers amongst them sach year lnﬂmﬂ”?ﬁm
¥, T EERCENTADE each of which has as many
NUMBER Bank letters between them in the
Bank P a B B | T * word (in both forward and
year| P a R | s T 12 3 5 13 T i :m:kw:nl! dimctlt;]nsll aja 1:1;?
have between them in the
e it rassormnlimess el | |22 2 | 33 English alphabeticalseics ?
=] 13 16 | 21 25
2008 |25361 | 28537 | 32652| 29565 32444 () Nene (2} One
5007 |54 | 50045 | 32561 | 28314 36150 8 11 18 |22 19 3 Two 4) Three
12 10 13 3 18 {51 More than three
008 | 36125 J0467 | 25455 23764 [35463 134, "Writi Lated Lo Pen' in
2008 [I5465| I1963 | 27649 24356 33214 11 20 11 F=] 21 ol “Fl'-ﬁ;:“r: s .
{2010 34138 31574 eessazizey (|9 121 112 [21 |23 {1) ‘Singing’ ts related to"Music’
126, Approximately how many (1] 2005 (2} 2006 (2) 'Stitching’ is related Lo
people taking a loan from Bank (3 2007 [4) 2010 Needle”
5 in the year 2006 were de- (5) Mone of thess ’ 13) 'Dadcing is related to
faulters ¥ 128, In which of the following years ‘Exercise’
(1) G480 (% 6210 was the difference in number (4} ‘Carpenter’ is related Lo
[3) 5020 (4] BS50 of people taking loan from ooy
[5) 5580 Bank P from the previous year (5) ‘Paper’ is related to ‘book’
127. Approximately what was the the highest ? 135. If it Is possible ts make only
dilference between the num- 1) 2008 [Z) 2006 one meaninglul word with the
ber of defauliers of Bank @ in 13) 2007 [4) 2005 second, third, eighth and ninth
the year 2004 and 2005 7 15) None of these letters of the word "CONFL-
1) 175 2) 125 130. Approxzimately what [as the ICTED', which would be the
(3 190 (4) 205 total number of de of second letter of the word from
(54 140 Bank T In the years. and the lefi? If more than one such
128. In which of the following vears 2008 together 7 word can be formed, give "A
was the number of defaulters (1) 14110 {2) 13620 as the answer. Il no such word
of Bank R. the maximum (3 13250 (4] 14670 can be formed, ghve 2 as your
among Lhe given years 7 (5 15330 1 Ansar
Visit us at www.kiranprakashan.com




MODEL SOLVED PAPER : RBI OFFICER GRADE 'B" EXAM

iy a
o
5 Z
138. In which of the following ex-
pressions will the expression
P = M be delinitely true?
MM<R=PzS
RIMzES=P<F
BFE«M<FuP
HIP=A<R<M
[5] Rone of these
.Im a class of 42 children,
Joseph's rank |s sbaeenth from
the lop. Kevin is seven ranks
below Joseph. What ks Kevin's
rank from Lhe bottom 7
(1) E2nd (2 20eh
I3 19th 4] 23rd
(59 25th
Drections [138-140) : The
following questions are based on the
alphabetical series given helow:
CLRTBQSMAFPDINFJ
KHGYX
138. Four of the fgllowing fAve are
alike n a cerlain way and so
form a group. Which is the one
that does not belong o the
group?
(1) LET
(3 WF
5 BMS
138, Il "CT Is related to “R@" and
Al is related o 'DF In & cers
tain way, lo which of the fol-
bovaimg is "SF related Lo, Fodlowe -
Ing the same patlern ?
1) MD [2) D™
(3 AD 4 Al
% DF
140. What will come in place of the
question mark in the following
scries?
CR LBT™ 31 7
{11 PK [ DR
(3 DG [4) MX
(5] PG
Directions (141-145) : Eachol
the questions below consists of B ques-
tion and two statemenis numbered |
and 11 given below it You have to de-
cide whether the data provided in the
statements are sullicient to answer the
question. Read both the statements
and -

=T
4 N

&) SPA
(4) FID

Give answer (1] If the data in
statement I alone are suflicient 1o an-
swer the question, while the data in
statement 11 alone are not sufficient to
answer the question

Glve apswer (2] Il the data in
slalement I alone are suflickend Lo an-
swer the question. while the data in
statement, | alene are pod sulfflclent to
answer the question

Glve answer (3] Il the data el-
ther in statement | alone or in state-
ment 1] alone are sullicient to answer
the question

Glve answer [4) IT the data
evien in both statements | and 1 Lo-
gether are mot sufficient 1o answer the
fuestion

Give answer (5] If the data in
both statements | and 11 together are
necessary to answer the question

141. How is 'party’ coded In the lan-

Buage?

1. ‘going to a party’ is.coded
as 'la a qu tu’ and ‘for a
party’ ks coded as 'fame tu’

11, “start the party” is coded as
‘tu cora’ and ‘going lo stant’
is coded as ‘gu cola’.

142. On which day of the week is

Priya clefinitely travelling?

1. Amita correcily remembers
that Priya is travelling after
Tuesday but before Satur-
chay. Rohit correctly remem-
bers that Priya i travelling
e Fricay but after Mon-
day.

1. Priya does not travel on a
Friday.

143, How is P relited 1o A 7

1. Als the daughter of M and
the sister ol 5.

Il. ¥ is the son of P and the
husband of M.

. Four movies are screened from
Maonday to Thursday, (one on
each day starting on Monday
and ending on Thursday) viz -
Crash, Soclal Netwark, lee Age
and Notting Hill. On which day
Is the movie Crash screemed 7
I. Social Network Is sereened

on the last day.

1. Nedther [ce Age nor Notting
Hill are screencd on
Manday.

145. Who sits to the immediate right

of Ayesha 7

I. Four friends- Shraddha,
Tanka, Vilma and Ayesha
are slttng around a circular
table facing the centre.

. Shraddha sits second Lo the
right of Tanla. Vilma is an
immediate neighbour of
5

Directions [146-100) : Study
the following information to answer the
Eiven questions:

Aoword and number arrange-
ment machine when given an input line
of words and numbers rearranges
them following & partbcular rule. The
followwing is an illustration of inpat and
rexrrangement. [‘Slngl.c digit numibers
are preceded by a zero. All other num-
bers are two dight numbers)

Imput  : good 18 to raise 02 12
money 28 for 5T charity 09,
: to good 18 railse 02 12
moniey 28 for charity 09 57.
: to ralse good 18 02 12
maoney for charity 09 28 57,
to raldse money good 02 12
for charity O3 18 28 57,
Lo raise money good 02 for
charity 09 12 18 2B 57.
to ralse money good lor
charity 02 09 12 18 28 57,
Is the last Step of the
arrangement of the above
input as the intended
arrangement ks obtained.

DMrections [148-147) : These
questions are based on the following
Lk

Step |
Step i
Siep I :
Slep IV
StepV

Setep ¥

Input : always 19 give 21 84
for 62 14 worthy cause.
148, Which of the following would
be step 111 for the above Input?
(1) worthy give for always 19
14 cause 84 G2 21.

(2 worthy give For always 14
19 cause 21 G2 B4.

(3] always give for worthy 19
14 cause 21 62 84.

(4] worthy give for always 19
14 cause 21 62 84.

15] always ghve for cause 18 14
worthy 21 62 84,

147. How many steps would be
needed (o complete the ar-
rangement for the above iInput?
(1 vi 2y
(3 4 vl
[5] None of these
Directions (148-150) : These

questions are based on the lollowing
ingout:
Iaput : 50 62 tips on 67 bow
can 42 stay young 17 89 for-
ever 03,

148. The lollowing stands for which
astep of the arrangement?
young tips stay 50 on how can
42 17 forever 03 G2 6T 8O,
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(1) Step I (2] S1ep V

[3) Step V1 (4] Step IV

[ Mone of these

148. Which of the words/numbers
below would he at the fifth
position {from the rght end) in

Step Vool the inpul?

(1) farever (2] 42

13 50 ] young

15h Mone of these

150, Which of the follwwing would
be the last slep fr the lnputl?

(1§ voung lips st on how for

ever can O3 17 42 50 62
G780,

[2) young tips stay on how for-
ever can &9 GF 62 50 42
17 03,

1 ean forever how on stay lips
forever 80 67 &2 50 42 17
3

[N woumg tips sLay on how or
cver can O3 17 42 50 67
G2 84,

159 can fopever how on stay Lps
voung 053 17 42 60 62 67
8o,

Directions [151-158] @ Study
the fullowing information and answer
Lhee cpueestions given belbow :

Eighl people - 5, R, M, L, M, T.
O and P are silling in a circle (acing
the: centre. All eight belong Lo dilferent
professions = reporier, doctor, crick-
cler. leacher, accountant, shophoeper,
praknter and supervisor. They are ol
necessarily seated in the mentioned
ariir.

M is sitting Lthird 1o the lch of
0. The dloctor is to the immicclinle right
ol M and M s ol a reporter. B s sit-
ting fowrth Lo the right of P, Melther R
et P s imancdiate nelghlour of M.
T s a Lencher and i1 sitting (hind o the
right of ihe doclor. The shopkeeper s
sltting second (o Lhe lefl of the leacher.
The painter is siiling sccond Lo the befl
ol M. 5 the ericketer is sining exaclly
between T and P, The accountant is
siging secoqed Lo Lhe right of the erick
eler. W is sitting third to the left of T,

181 Who mmongst, the following is

il repaorier T

1 & 2L

[3) M M R

5 None ol these

. What is 5% position with

respect lo R?

11} Third te ihe right

128 Second Lo Uhe riglt

(3] Thired to the beft
(4] Second to the left
(5] Fourlh Lo the righil
153. How many people are siiting
beetween Pand N when counted
in am anti clockwise directlon
from N 7
11 One
3] Three
15 Nane
184, Four of Uhe following five pairs
ance alike in 8 certain way hased
o Ui positions in U above
arrangement and so form a
roup. Which of the fallowing
does mot belong to the group ?
(1} Teacher - Painler
(2) Supervisor - Shapheeper
13} Cricketer - Repaortier
4) Doctor - Accountant
5} Shopkesper - Doctor
158, Which one of the lollowing
statements is false according
o the above menlioned
wrragement ?
(1) ™ is o the immeediate rght
of the supervisor
[ The ericketer is thired to (e
right of the shopheeper
[3 The doctor i siUng exacily
belween the supervisor
ancd the iwcountant
[ L s nelther o leacher nor a
supeTvisor
[3] There are onby three poople
betwaeen 5 amd N
Directions [ 156-160) : Study
Lhe fllowing infermation and answer
Lhe questions that follow
In a certain code language,
“hape Lo see you® is cocled as Te =0 na
i, ‘please come 0 sec the pary” s
coded as M ge na di ke 20, "hope 1o
come B coded as 'di so ge” and “sce
you Lthe party’ is coded as 're i zo na’.
188, How is ‘please” coded in the
ihven code language™
1) di [2) ke
[HI1 A1) A
15} Beorme of s
187, What does the code "so stnnd
lor in the given code langnge?
() hvgae: [2] come
(3 see 4] 1o
5§ Mone ol Lhese
188, How ks party” codded in the given
codle lnngunge?
(1) Eliher 're’ ar 0’
[2) Eilver o or miy’
¥ Elbher =o' or

[2) Twa
[4) Four

|
t

[4) Either 2o’ or g’
5] Either ke’ or

188, How will ‘please see you' be
codded in the given cotde lan
puage?

1] re na ke

[l =0 re na

[ ke re ge

180, Which one of the Follosadng will
ke coded as "so di re' in the
given code language?
{11 yous see hope
(2] hope you please
13 hoper you come
(4] the hope to
(5] you hope Lo
Directions [161-185) : In sacty
question heelow o statement is ghven lol -
loweed iy iwo courses of action muim-
hered | and 15, A course of action is a
practicabile and leasible step or admin
strative decision o be taken for fol
lewet-uipy, improvement of lurher aciEon
in regard (o Lhe problem. pdicy. clc
Oin the basis ol the informaalion gliven
I the statement, you have Lo assume
everything in the statement (o be Uree
and decide which of Uhe sugpested
courses of action logically follow(s) lor
JrRIrsLing.

Glve answer (1) il only [
Folbows.

Glve answer [2) il only 11
Folbovavs.

Give answer (3] 1 cither | orll

fralbovs.

Give answer (4] il nelther | nor

11 Folbows.
Give answer [5) il both | and
10 fil b
161. Btatemwent : Four cases ol piek
pocketing wene reported il one:

ol the most renowned Thee star

hotels kst evening

Courses of action :

1. The heodes] stall showdd 1 in-
structed o be viglant amd
reporl any suspheious per-
son or activity.

. More CCTY carmeras shoukd
be Enstalled near the dindng
and receplion arcas of the
hied wisere Lhosar incidents
touk plaee

162, Statement ;| Despite mepoated
wiatrnings to stadents and par
ents from e college, some siu
demis have Rl not abilled

the: mandalory criteri ol 75%

attendance in order Lo apgpear

lor exams,

12} 0 re na
[4) ma chi ke
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Courses of actlon :

. ‘The college should stop ad-
hering to this particular erl-
e,

. Either the parents or guard-
lans of the defaullers
should be called for a meet-
g,

183, Statement : The students re-
siding at the hostel of a uni-
versity had Lo stay withoutl
electricity and water for 48
Tisaars ol bescaiiise nl':]'u;rhﬂn
bul because of negligence by
the hostel stail.

Courses of action :

1. The managerment of Uhe und-
viersity ahowld look tnto the
malter and take strict ac-
tion agalnst such ncgli-
Eemce.

. The students ahoild leave

thie hosted and lind same al-
temate accommodation.

. Statement @ Local villagers
hanve reported that nstances of
Mlegal cutting of trees have In-
creased over the last few
manths in the forest area.
Courses of actlon :

The locals should be
encouraged to report any
such activities in the fulure
as well,

. Authorities should imemeds-
ately look into the matter
and put a stop Lo such
illegal activities,

165, Statemeat : The packets of
many of the packaged eatables
convey Incorrect Information
about the ingredients and nu-
trient content.

Courses of action :

All such products should be |-

banned from the market if
allter & warning also correct
information is not provided.
The Issue should be gnared
as long as the eatables are
popular among the public.
DMrections (166 = 170) : Study
the following information and answer
the questions that folboaw:
Six friends — Deepak, Varun.
Anit, Nilesh, Rajesh and Skddharth ane
studying aix dilferent spectallsations of
engineering which are — metallurgy.
telecommunication. soltware, mechand-
cal. electrical and hardware nof nec-

essarily in the'same order. Each one
lkes a different sport - hockey, ericket.
swimming. football, badminion and ten-
nis again not in the same order.
Nilesh Is not studying hard-
wire. Rajesh is studying software and
likes hockey. Andt Hkes swimming numd
is not studying hardware. The one who
likes football is studying electrical.
Siddharth is studying mechanical and
does ot like tennis. The one who likes
hadminton is siudying telecommundca-
b, and Varn do not ke bad-
minton. Decpak does not like tennis,
168. Which specialisation is Varun
studyling ?
(1) Metalhurgy
[2) Mechardcal
[3 Hardware [4) Electrical
(5 None of these
187. Which spori does Deepak like?
(1) Football [2) Crickel
(3 Hockey
(4] Cannot be determined
15 None of these
188. Which of the following person-
specialisation combination is
correct according to the given
information?

1) Wilesh - Hardware

12) Varun - Electrical

13 Anit - Metallurgy

{4} Siddharth - Soltware

I5) MNome is cormect,

Directions [188-170] : If all aix
friends are asked sit in a stralght line
[acing north, In an alphabetical order
[according to thelr names), from ledt to
righl. then __

168, Who will be to the immediate
left of the one studying
electrical?

{1} The cne whao likes badmin-
Lon

who s studying

nbcation

{2 The one who I8 studying
hardware

i2) The one
telecommu

4] The one who lkes hockey
15) None of these
170 Which of the following
. @mhlnalmnu will represent
¢ favourite spert of the
immediale nclghbours of
7

[1) Badminton - Football
[2) Cricket = Tennis

[3 Cricket - Football
[4) Tennts - Football

(5] Cricket - Badminton

DMrectlions [171-173) : Six
fricnds A, B, €, I, E and F working in
the same office take different time o
rench offlce. All of them Lake Ume in
the multiples of ten in such a manner
that the one whe reaches ollice the ear-
liest, reaches in 10 mimtes and the
one who Lakes macdmum lime reaches
olllice in G0 minutes. D takes more time
than E bud less time than A A reaches
I 30 minutes, B takes less Ume than
only F.

171. How much time does € take to
reach offlce?

{1} &0 minutes

[2) S0 minules

[ 40 minuies

[4) 20 minutes

(5 Cannet be determined

172. Whe amongst the following
takes maximum time Lo reach
office®
i B [z C
3D 4 F
15 Cannot be determined

173. How many people lake more
time Lo reach office than D7
11} Four (2] Three
13 Twa 4] Cme
15} None
Drections [174-178) : Incach

question below is given a statement
lallowed by two assumptions / infer-
cnc:_-lln.umbemd 1 and Il. An assump-
tion Is something supposed or taken
for granted and an inference is some-
thing which can be direclly inferred
from e given facts, You have Lo con-
sider the statement and the following
assumptions/ inferences and decide
which of those ls/are inplicit In the
statement.

Glve answer (1] if only | is
Irngslicit.

Give answer (2] il only I is
irnplicit.

Glve answer (3] if either Lar
s Implicit

Give answer (4) if neither | nor
11 is irmplicdt. .

Give answer [5) if both | and
11 are imphicit.

174. Giatement : Using calculator
for simpler caleulations ad-
versely alfects mathematical
abilities of children.

I. Using calculator for com-
plex caleulations may not
affect rathematical abilites
drhveraely. J
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Il. Complex caleulations can-
mol be done manually with-
out the help of a calculator.

178, Statement : For underwaler
battles onby weaponny X shoulkd
be used.,

I. Mot all weaponry can
Tunction well under water.

I There are different kinds of
weaponry avallable for
battles on ground and
under waler.

176, Statement : An advertisement
by Easy Air, a privale alriiner
Travel Lo Mesrut by our alr-
lines and get a chance Lo win
an all expenses pald holiday to
Bangkok'

1. Easy Air Flights are avall-
ahle for Banghok.

Il. The city of Meerul has an
adrgeot.

177. Statement : As the prices of
petrod and diesel shoot up mare
and more people are resorting
o the use of electric cars.

I. Using electricity [or
powering cars is less
expensive than using petrol
or diesel.

1. Many people cannot afford
the ralsed prices of pelrol
and diesel,

178. Statement : Book your mdlway
tickets at least three months
In advance o ensure a con-
firmeed reservation,

I. Nobooking is taken by the
rallways before three
months of the date of
JourmEy.

1. Air tickets need to be
booked as musch n sthance
as trdin tickets.

Directions (178-181) : Read the
followdng information carefully and an-
swer Lhe questions which follow :

Ruling gerernments in the west
are being punished by the voters for
ever rising unemployment rates. Thelr
parliament Is abuzz with compalgns
marked by criticlam of India as an

, outsourcing hub, India ks seen by many
In the west as a land of call centres
and back offices with cheap labour that
costs people In the west, thelr jobs,

(1) Qutsourced jobs do not re-
quire highly skilled and
qualificd employees. .

[2) Mearhy 34% of the unem-
phayed peaple would secure
Jobs In the west Il out-
sourced jobs were In-
sourced by thelr organisa-
Lions,

[3) After sulfering heavy loss-
es in the elections the gov-
ermments (n the west are
expected to change thelr
decision on outsourcing Lo
Inddia.

(4} Outsourcing, a dynamic,
two-way relationship has
created joba and growth in
India as well as the west.

(5} Although ouisourcing toln-
dia allowed many compa-
nies In west Lo focus on
thelr core operationg, they
heavily compromised the
quality and the standards of
their back cffice jobs.

180. Which of the following can be

181.

{1} Jobs which are currently
oulsourced Lo India would
be transferred tg another
country which in all prob-
ability would be China.

(2) Call centres and back of-
flees employees in India
would expect a salary al par
with thelr western counter-
parts.

[3) In-sourcing of jobs by the
west would render thoua-
sands of Indians unem-
ployed.

{4 I in-sourced in the west (8-
sell, the companies would
not be able to employ pro-
fessionals and experis of
same quality as avallable in
Irelia.

(5} The western companies
which earlier outsourced Lo
India would benefit finan-
clally as offices would not
have to be sl overseas.

Which of the following can be

Iaferred? (An inference is

[1}) Unemployment in India Is
not as severe a problem as
that in the wesi

(2} Employees working in the
back offices and call cen-
tres In the west earn much
more than their counter-
parts in India

{3) Developing countries such
a8 China and India do not
oulsource thelr back office
Jjobe at all to cther countries

14} Conntries which do not oul-
source jobs do nol fee the
problem of unemployment

%) One of the maln reasons for
high unemployment rte in
India is its clan of call cen-
tres and back oflices which
underiake oulsourced work
fram the wesl )

Directlons [182-184) : Read

the following information cirefully and
answer the questions which Folbow:

P i son of Q- Q s mother of

R R is wife of T. T is ather of

V. ¥V is brother of W. ¥ is

mather of T.

182. Which of the following Is true
based upon the relationships
given abave?

1] W Is grand-daughier ol ¥

{2 R ks sister of P

13) V is son ol Q

{4) V is brother-in-lawof ¥

(5) Noneistrue

183, How is T related ta P 7
(1} Son-in-Law
[2) Brother |3 Father-in-law
[4) Brother-in-law
[5 Cannot be determined

184. Which of the following is/are
required to establish that Wis
the daughter ol B 7
1] Mo extra information is re-

quired as the relation can
be established from Lhe
Even Information

{21 R has only thres children,
one son and two daughlers

¥ Q has only cne grandson

(@) ¥ has only twa chilelren, a
son and a dawghter

(5] Either {2) or [3]

Directlons (185-190) : In

these questions, relationship between

178. Which of the following something which is mol directly | different elemenis is shown in the
slatements would weaken Lhe stated but can be inferred from | statements, These statements are fol
argument given in the passage? | " the given facts) leweel by two conclusions.

= -
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Mark answer [1) If Only con-
clusion | follows
Mark answer(2) if Only con-
clusion Il follows
Mark answer (3] if Either con-
clusbon 1 or Il follows
Mark answer (4] if Nelther
-conclusion 1 nor I follows
Mark answer (B} if Both con-
clusbons | and 11 follow
185, Statement !
A*BEC.C<D, D>F
Conclusions : |, FxB
. A>D
1848, Statement @
X=YzZ Q=Y. P>X
Conecluslons : 1. Z<P
I P>gQ
187. Statement :
LzlLH>IzJd.K=d
Concloslons: 1. H>L
1. L> K
188, Statement :
DeP= REP S<
Conclusions: [. R<5
I 05
180, Statement :
DzE>FuG EaHcJ
Conclusions: [. J=D
. Ged
180. Statement :
JER>ZR>FcsW.B>J
Concluilons: [. J>F
. B=w
Directions (191-196) : K, L,
M, P, @ R. 5 and T are sitting arcund
a square tahle in such a way that four
of them sit at four corners of the
aquare while four sit in the middle of
each of the four sides. The anes who
si at the four comers face outside while
those who ait in the middie of the sides
face the centre of the table.
F aits third o the right of 5. 5
[ices the centre. b sita third (o the
beft of M. M does mot sit in the middle
ol the sides. Only one person sits be-
tween ) and R. R Is nol an immediate
neighbour of M. T faces the centre. K
s not an immediate neighbour of B
191. What is position of M with
respect o L 7
[1] Third to the rght
(2] M and L sit diagonally op-
posite to each other
{3 Second to the right
(4] Second o the lefl
{5} Filth to the right

192, Who sils exactly between ) and
R?
mT
13 K
{8 & and K
183. Which of the following pairs
represents the persons scated
in the middie of the sides who
face each other?
s 2K L
3 MP 4 R T
BTQ
184, Who amongst the following sit
between R and K when
counted in anti-clockeise di-
rection from K 7
(1} Mo one sits between R and
K as R and K are immedi-
ate nelghbours of each
olher

2 P
14} M

(2) 5. Pand L

3 Pand@ @ Land R

B MSand T

188, Il K Is made to face the oppo-
site direction, who would sit to
his immediate right?

R 2 e

e T

s

188. Four of the lollowing five are
alike in & certain way and so
form a group. Which is the one
thal does mot belong (o that
growp?

L 2 M

K ) P

5 R

Directions [187-200) : Read

the following information and five state-
ments given below it carefully and an-
swer the questions which follow.

Exodus from rural areas to the

urban hubs In search of job epporiu-
nities has now declined to nearly
twenty-alx percent of what It was at
the turmn of 21sl century.

(A Since the last decade, the
rural economy has trans-
formed itsell into & bank-
able, profit making and
commercially viahle venture

[B) Job apperiunities differ in
urban and rural areas

) The load an Infrastruciure
and resources in the urban
areas which had remalned
unmanageable for a long
time has been eased a litthe
slnce the last decade.

(D) This trend of reverse migra
tlon which was seen only in
dvelaped countries il now
has entered the scenes of
developing nations as well

(E) According to a recent report
meare than elghty percent of
the professionals having
roots In rural arcas prefer
1o work In urban cities
rather than thelr home vil-
lages.

. Which of the statements num;

bered (Al (B, [CL. (D] and (E]

mentioned ab«rre represenls an

effact of the given Information
maost appropriately®

e C

o 4] E

(5] Either Dor E

188, Which of the slatemenis num-
bered (A). (8], [CL. (D] and (E]
mentloned above represents a
cause of the given information
most appropriately®
me 2 o
(LN 4] B
15 A

189, Which of the statemenis num-
bered (A, (B], [C]. (D] and (E]
mentioned alove reprsenls an
assumption most appropri-
ately 7 (An assumption is some-
thing supposed or taken for
granted)
1A
@He
(4} Both Aand C
(LR )

200, Which of the statements num-
bered (Al [B], (C), (D] and (E]
mentioned above would
weaken /contradict the facts
prmnl:ud In the paragraph?
(1 a 2 B
(3 < [

BME |

Directions (201 - 208 : Study

the fallowing information and answer
the questions ghven below :

Twelve friends A, B, C. DLE,

F. G, H. L. J, K and L were barmn in
different months of the same year. A
was borm In the month of April and G
was born In the month of August. J
was borm in the month immediately
preceding the month in which K was
born and immediately succeeding the
manth inwhich C wis borm. J wis nol

2 B
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born In the month of October nor in
February. There 15 a gap of two months
between the birthdays of L and B.
There were 30 days in the month in
which L was born. D was born in the
month immediately after the month in
which | was bom. There were 31 days
in the month In which D was bom.
There is a gap of one month beteeen
the birthdays of B and F. E and H were
born in that months which had 31 days
Each.
201. In which of the followlng
manths B was born?
(1] December [2] June
(3 March  [4) November
[5) September
202, Four of the following five are
alike in a certakn way and hence
form a group. Which one of the
lolbrwing does not belong to that

[ A

203. Who among the following was
bam in the month of Febneary?
[1J 2L
A EorH M C
i

204 How muary friends did celebrate
their birthdays after F 7
(1] None (2] Three
3] Four 4] Five
% Se

208. If [ Is related A and B is related
toJ on the basks of months in
which they were born, then
with which of the following L
is related on the same basis?
1y G 2 A
3 K 4 E
5 H
Directions (208-210]) : Study

the following information and answer
the questions that follow:
Twelve persons are sitting in

two parallel lines in such a way that |

there are six persons in each row atl
equidistance. A. B, C, D, E and F are
sitting in row- | and they face towards
east. P. Q. R. 5, T and V are sitting in
row-2 and they [ace towands west. One
person of one row faces the other per-
son of the other row.

P, who 15 sitting at one of the
ends of the row, s second to the right
of T. A does not lace P or T. A is third
Lo the left of F. Three are iwo persons
between @ and V. There is only one

person between C and D. € and D do
not face F. B ls nelghbour of C. 5, who
does nod face D, s not the nelghbour
af @.
208, Who among Lhe following (Rces
F?

[§1R=3

35

= v
« How many persons are siiting

between E and C?

(1) One [2) Two

[3) Three  [4) Four

(5] Mone :

208. E Is related (o R In the same
wiy as B is related to 5. On
this pattern F Is related to
v [

T a
(5] Mone of these

2089. Which of the following state-
menls is true aboul B?

(1] @ i= the neighbour of that
persan who faces B

{2 C is not the immediate
nelghbour &f B

i3 E is second 1o the rght of
B

@T
M R

(4} T faces B
{5 B s second from the lefl
end of the row
200, Wha are sitting at the ends of
the row?
mewv 2] F.A
B DE WPRS
{5) Mone of these
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